Systems of Equations

One Solution: Infinite Solutions: No Solution:
Intersects at one that | | Equations are the same. All Equations are
makes all equations true on the line are There is no solution
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W u ¥
L il E o .
"‘\‘.ﬂp z+ h‘-""h-..g;_
z 2 _.-‘—-_.___' w\
] \_\
1 L b
29 + ¥ o 4 i o t 3
. | Co e i -1 1 2 -8 =4 | 13
44 d - 14

Solving Systems of Equations by Graphing

Solving for y reminder:

1. Move the x term to
the other side

2. Divide both sides by
the coefficient of y

-3x+y=3

y:

/3(

Solution:

Solution:
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